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(35) Applying the Addition 
Formulae in Trig 

  

(1) Using the formula book with 𝐴 = 45௢and 𝐵 =

30௢ show that the exact value of sin(75௢) is 

√ଶା√଺

ସ
. 

 

 

 

(2) Use the formula book to write       
cos 60 cos 45 + sin 60 sin 45 in the form cos 𝑃 
where 𝑃 is an acute angle. 

 

 

 

 

(3) (a) Using the formula book, show that  

tan 15଴ =

1 −
1

√3

1 +
1

√3

 

(b) Hence, without a calculator, show that     

                             tan 15௢ = 2 − √3 

  

(1) Using the expansion of cos(𝐴 + 𝐵) show that 

                      cos ቀ
ହగ

ଵଶ
ቁ = √଺ ି√ଶ 

ସ
  

 

 

 

 

 

(2) Write 
ଵା√ଷ

ଵି√ଷ
 in the form tan 𝑃,   

గ

ଶ
< 𝑃 < 𝜋 

 

 

 

 

(3) Given that cos 𝐴 =
ଵ

ଷ
 and cos 𝐵 =

ଵ

଺
 where 𝐴 and 

𝐵 are both acute angles, show that: 

(a) sin 𝐴 =
ଶ√ଶ

ଷ
 

(b) sin 𝐵 =
√ଷହ

଺
 

(c) cos(𝐴 + 𝐵) =
ଵିଶ√଻଴

ଵ଼
 

(d) sin(𝐴 + 𝐵) =
ଶ√ଶା√ଷହ

ଵ଼
 

(e) Using a calculator, show that tan(𝐴 + 𝐵) =

−0.556 correct to 3 significant figures. 

 

  

(1) Given that tan 𝐴 = 𝑝 and tan 𝐵 = 𝑞 where 𝐴 is 
an acute angle and 𝐵 is a reflex angle, show that   

          cos(𝐴 + 𝐵) =
௣௤ିଵ

ቀඥଵା௣మቁቀඥଵା௤మቁ
 

 

 

 

 

 

 

 

 

 

(2) Given that sin 𝐴 = 0.8 and cos 𝐵 = 0.6, where 
𝐴 is an obtuse angle and 𝐵 is a reflex angle, show 

that cot(𝐴 + 𝐵) =
଻

ଶସ
 

 

 

 

 

 

 

 


